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BACHELOR'S DEGREE PROGRAMME 
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ELECTIVE COURSE : COMMERCE 

ECO-6 : ECONOMIC THEORY 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70 % 

Note : The paper contains three sections A, B and C. 
Instructions are given in each section along with marks. 

SECTION-A 
Answer any two questions from this section : 2x12=24 

1. What do you understand by the term 'Factors of 
Production' ? Explain their features. 

2. Explain various forms of economic system. Point 
out the role of modern corporation in a capitalist 
economy. 

3., What is an indifference curve ? Explain its 
properties. 

4. 	Distinguish between nominal and real rates of 
interest. Explain the reasons for interest rates 
differentials. 
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SECTION - B 
Answer any two questions from this section : 2x8=16 

	

5. 	Explain the law of variable proportions with the 
help of a diagram. 

	

6. 	What are the main determinants of elasticity of 
supply of a commodity ? Explain them. 

	

7. 	Distinguish between monopoly and monopolistic 
competition. Explain the characteristics of 
monopolistic competition. 

8. Explain the meaning of the term 'Money Wage' 
and 'Real Wage'. How are competitive wages 
determined ? Explain. 

SECTION - C 
Answer any one question from this section : 

	

9. 	Explain the following : 
(a) Equilibrium of a consumer 5 
(b) Collective bargaining 5 

Distinguish between the following : 
(a) Firm and Industry 5 
(b) Production cost and selling cost 5 

10. 
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